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Book key
1.1	 Open answers (1  a  2  b  3  a, b  4  a, c  5  c)
1.2	 Open answers 
	 (1	 The man with the left. 
		 2	 Yes, he is.
		 3	 No. He works for him.
		 4	 Can Phileas Fogg go round the world in eighty 

days?)
2.1	 1  £20,000  2  servant  3  five, £4,000  4  £20,000
2.2	 1  E  2  A  3  D  4  B  5  C
2.3	 1  had to  2  has to  3  do/will have to
	 4  do/will have to  5  (will) have to
	 6  did … have to  7  did … have to
	 8  does … have to
2.4	 Open answers (1 Yes  2  No  3  No  4 Yes
	 5 Yes  6 Yes  7 Yes  8 Yes)
3.1	 1	 Phileas Fogg is tall and wears expensive clothes. He 

left England quickly and has a lot of money in new 
banknotes. So Fix thinks that Phileas Fogg is the 
Bank of England thief.

	 2	 No, he doesn’t.
	 3	 Passepartout goes into an Indian temple at Malabar. 

You can’t go into a temple in India in your shoes.
	 4	 The train stops near the station at Rothal and 

there is no more railway after this.
	 5	 They want to go to Allahabad. When they get 

there, they can take another train. They can’t go on 
horses because other people took them. So they 
have to go on an elephant.

3.2	 1  clothes, shops  2  Passepartout, money
	 3  Fix, Bombay/India  4  shoes  5  horses
	 6  elephant  7  husband, fire  8  die
3.3	 1	 When the ship arrived in Bombay, everybody went 

to the city.
	 2	 When the men in the temple saw Passepartout’s 

shoes, they started to hit him.
	 3	 Phileas Fogg was at the dinner table when 

Passepartout arrived at the station.
	 4	 Everybody had to get out when the train stopped.
	 5	 When Phileas Fogg heard about the young Indian 

woman, he wanted to help her.
3.4	 Open answers
4.1	 1  ✓  2  ✓  3  ✗  4  ✓  5  ✓  6  ✗  7  ✗
4.2	 1  A  2  D  3  D  4  E  5  C  6  B
4.3	 1	 Aouda will go to Hong Kong with Phileas Fogg.

	 2	 Phileas Fogg will give the policeman £2,000/ 
will pay the bail money.

	 3	 The ship will arrive in Hong Kong at twelve o’clock.
	 4	 Will Phileas Fogg and Passepartout stay in prison?
	 5	 Will Fix take Phileas Fogg to Scotland Yard? 
4.4	 Open answers (1  Phileas Fogg  2  Fix
	 3  Phileas Fogg  4  Passepartout)
5.1	 1	 … her uncle does not live in Hong Kong now.  

He lives in Holland.
	 2	 … is working for the five men at the Reform Club. 

He is watching Mr Fogg because of the bet.
	 3	 … is a thief.
	 4	 … the Carnatic left without him. Phileas Fogg has to 

get to Yokohama quickly.
	 5	 … Fix put something in Passepartout’s drink/Phileas 

Fogg is going to lose his bet. 
5.2	 1	 Phileas Fogg, not Passepartout, buys clothes for 

Aouda.
	 2	 Passepartout is not on the Tankadere.
	 3	 The warrant for Phileas Fogg does not arrive in 

Hong Kong.
	 4	 The Tankedere does not go to Yokohama. 
5.3	 1	 He bought some clothes/a dress for Aouda.
	 2	 He put something in it.
	 3	 He gave Passepartout the drink.
	 4	 It left at eight o’clock.
	 5	 She fell because the weather was very bad. 
5.4	 Open answers 
	 (1	 Phileas Fogg and Aouda find Passepartout. 

Passepartout hits Fix! They go to San Francisco. 
		 2	 Some animals stop their train. Some Indians follow 

their train and take everybody’s money.)
6.1	 1  a  2  b  3  b  4  b, c  5  a, b 
6.2	 1  f  2  g  3  j  4  e  5  b  6  a  7  i  8  d
	 9  c  10  h
6.3	 1  anywhere  2  nobody  3  somebody
	 4  everybody 
6.4	 Open answers (1 Yes  2 Yes  3 Yes  4  No
	 5 Yes  6  No)

Discussion activities key
1	 Open answers
2	 Suggested items: camera, suntan lotion, sunglasses, 

a book, iPod, mobile phone, maps, phrase books, a 
compass, a hat, walking shoes, insect repellent,  
medicine.
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3	 Open answers
4	 Because he wore shoes. Suggested discussion topics: 

How do people greet each other? Do they shake hands, 
bow, kiss, embrace? What are the social or religious 
taboos? What is the daily timetable for work, mealtimes, 
sleeping? What are the traditional clothes?

5	 Open answers
6	 Answers: Hong Kong lies off the southern coast of 

China, in the South China Sea. Hong Kong is made up of 
over 260 islands, covering an area of 1,100 square km. 
The population is approximately seven million. Chinese 
food from all over the world is eaten in Hong Kong. It 
is a busy place and is quite noisy. The weather is sub-
tropical, hot and humid from May to August and cooler 
the rest of the year.

7	 Open answers
8	 Suggested answers: actors (Tom Cruise, Brad Pitt, Julia 

Roberts), politicians ( John F. Kennedy, Washington, 
Lincoln), sportspeople (Tiger Woods, Mohammed Ali, 
Andre Agassi), cities (New Orleans, San Franscisco 
Miami), food (hamburgers, hot dogs, milkshakes), 
buildings (Empire State Building, Statue of Liberty,  
the Pentagon), physical features (the Grand Canyon, the 
Mississippi River, the Everglades).

9–13  Open answers

Activity worksheets key 
1	 a  Passepartout  b  James Forster  c  Ralph
	 d  Phileas Fogg  e  Detective Fix  f  Mr Stuart
2	 a	 How much money did the thief steal?
	 b	 What time did Fogg always go the club?
	 c	 Where is the Reform Club?
	 d	 What did Fogg take with him?
	 e	 When did Detective Fix send a letter?
	 f	 Where did Fogg have his money?
3	 short–long
	 light–heavy
	 strong–weak
	 early–late
	 wrong–right
	 cheap–expensive
4	 a  warrant  b  beautiful  c  elephant  d  newspaper
	 e  banknotes  f  captain
5	 a  uncle  b  temple  c  bail  d  prison  e  servant
	 f  guide

6	 a  To burn her  b  An elephant  c  Holland
	 d  His shoes  e  Because Fogg paid the bail money
	 f  Detective Fix
7	 a  weather  b  arrived  c  late  d  problem
	 e  engine  f  best  g  uncle  h  happy  i  journey
	 j  kindly
8	 a  few  b  to  c  was  d  anything  e  to
	 f  smallest
9	 a  ✗  b  ✗  c  ✓  d  ✓  e  ✓  f  ✗
10	 a  3  b  6  c  1  d  2  e  4  f  5
11	 a	 than Phileas Fogg.
	 b	 you have one more day.
	 c	 Fogg knew he was five minutes late.
	 d	 and stayed there.
	 e	 not sad or excited.
	 f	 Mr Wilson.
12	 poor–rich
	 different–same
	 younger–older
	 fast–slow
	 friendly–unfriendly
	 happy–sad
13–16  Open answers

Progress test key
1	 a  6  b  10  c  9  d  8  e  5  f  3  g  4  h  2
	 i  1  j  7
2	 a  ✗  b  ✗  c  ✗  d  ✗  e  ✓  f  ✓  g  ✓  h  ✗
	 i  ✗  j  ✗
3	 a  Aouda  b  Detective Fix  c  Phileas Fogg
	 d  Passepartout  e  Captain Speedy  f  A guide
	 g  A train driver  h  Seaman Bunsby  i  A soldier
	 j  An Indian policeman
4	 a  snow  b  engine  c  floor  d  problems
	 e  newspaper  f  cupboard  g  stamps  h  port
	 i  prison  j  chair
5	 a	 Because Fix made a mistake./Because he was angry./

Because Fix took him to the police station.
	 b	 Because the Sioux Indians were dangerous.
	 c	 Because someone put something in her food.
	 d	 In San Franscisco.
	 e	 In Suez.
	 f	 A train driver.
	 g	 Dresses and other clothes.
	 h	 £2,000.
	 i	 A moment before 8.45, 21 December.
	 j	 On an elephant.


